| Efficiency vs Dxy |
> 0.1
<

5 S
L0 | s S M S S
< A T
@.08—----%------% ------- b
ko) N T | O S S R
D.07F
©
0.06
0.05F
0.04
0.03
0.02F1l-
0.01{11

J.O.:

Ratio

105l -{-1

09—525 5T1E-10 -5 0 B 10 1520 25
TP dxy (cm)

T T Teran-lowp
|t—l'1_NEWdefauIt _specPLess1-lowpt
it EWdefault”specPLess2-lowpt
it EWdefault"specPLess3-lowpt

—=— DOM K
_ o— DOMmk
[Efficiency vs Dz | | —— DQM-mk
—— DOM™mk

mmmmT

it_TT_NEWdefault_specPLess4-lowpt
N 0.2 ;

T RS S S S
U
e s S A
O - N N N H H
.14 P A AR AR
o : : : : :
T e
0.1~
0.08
0.06
0.045F-{¢1- [T, 154
0.020 |1 H 1Y

........................................................

=

©
TTT [ LT T [TT1T
| ——
=
}* E
L I
4 . I E N g .. .
—h—

T
=
-

Ratio

L 2

=
l_\
X

-

- arie -1 - | [ {e|- EHE 3 TR EE - -

10 20 30
TP dz (cm)

[
T
4
-

5
4
4 .
B 0
-
-4
-4
-4
$-
Px
-4

|

(JL) L

o

|

o :
|

H

o

o



	Contents
	Page 1


